Year 2 homework 23.11.23 Multiplication Partition this number in 3
Return by 30.11.23 different ways

5x2-= 5x5= 5 x 10 = @ @
Addition

6x2-= 6x5= 6 x 10 =

7+23=__ 15+___ =30 7x2= 7x5= 7 x10 = .. ..

76 +4 = 20+ __ =30 8 x2-= 8x5= 8 x 10 = @
32+8=__ 31+ = 40

— 9 x 2= 9x5= 9 x10 = ..
4+36=__ 42+ ___ =50

55+5=__  58+__=60 Subtraction
64+6=__ 63+__=70
100-10=___ 20-14=___
18+2=__ 77+ __ =80
100-20-=__ 20-12=___
89+1=__ 8l+__ =90
100-30-=__ 20-13=__
90 +7-= 94+ =96 What time is the clock
o _ 100 - 40 =__ 20-14=__ showing?
10+40=__ 11+_ =20

100 - 50 =__ 20-15=__
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